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	Q1.
	According to the Indian Standard recommendations, a water requirement of _______ per head per day is assumed for residential buildings.

	Option A:
	50lit

	Option B:
	115lit

	Option C:
	135lit

	Option D:
	160lit

	
	

	Q2.
	The diameter of main service pipe may vary from ___________

	Option A:
	 2-15 mm

	Option B:
	 12-40 mm

	Option C:
	 50-75 mm

	Option D:
	 60-80 mm

	
	

	Q3.
	___________ is used to measure flows to domestic buildings.



	Option A:
	Rain gauge

	Option B:
	 Water tank

	Option C:
	Drainpipe

	Option D:
	Water meter

	
	

	Q4.
	The average quantity of water (in lpcd) required for domestic purposes according to IS code is ________

	Option A:
	100

	Option B:
	120

	Option C:
	70

	Option D:
	135

	
	

	Q5.
	The average consumption of water required in factories in lpcd is ___________

a) 10-15

b) 20-30

c) 30-45

d) 70-80

	Option A:
	10-15

	Option B:
	20-30

	Option C:
	30-45

	Option D:
	70-80

	
	

	Q6.
	The size of suspended solids lies in the range of ________

	Option A:
	 10-3 – 10-6 mm

	Option B:
	103 – 106 mm

	Option C:
	10-1 – 10-3 mm

	Option D:
	101 – 103 mm

	
	

	Q7.
	Which method is used to measure the color of water

	Option A:
	Gravimetric analysis

	Option B:
	Chromatography

	Option C:
	 Tintometer method

	Option D:
	Hydrometer analysis

	
	

	Q8.
	Chlorides are estimated by titration with a standard silver nitrate solution by using _______ as an indicator.

	Option A:
	Potassium manganate

	Option B:
	 Potassium chloride

	Option C:
	Potassium chromate

	Option D:
	Potassium dichromate

	
	

	Q9.
	One degree of hardness is equivalent to ___ ppm.

	Option A:
	2

	Option B:
	1

	Option C:
	10

	Option D:
	100

	
	

	Q10.
	________ represents the bacterial density that is most likely to be present in water

	Option A:
	BOD

	Option B:
	COD

	Option C:
	MPN

	Option D:
	Coliform index

	
	

	Q11.
	The number of bacterial colonies by Agar plate count test should not exceed ____ per ml for potable water.

	Option A:
	1

	Option B:
	10

	Option C:
	100

	Option D:
	1000

	
	

	Q12.
	If the acid and gas are formed in the multiple tube fermentation technique, the test is _____

	Option A:
	Positive

	Option B:
	Continued

	Option C:
	Negative

	Option D:
	Discarded

	
	

	Q13.
	How many types of aerators are commonly used in the treatment of water?

	Option A:
	2

	Option B:
	3

	Option C:
	4

	Option D:
	5

	
	

	Q14.
	Which process of water treatment is done to avoid floating debris, branches, trees or other large particles suspended in water?

	Option A:
	Screening

	Option B:
	Aeration

	Option C:
	 Primary sedimentation

	Option D:
	 Secondary sedimentation

	
	

	Q15.
	What is the size of the coarse screen used in pretreatment of water?

	Option A:
	25mm

	Option B:
	 50mm



	Option C:
	75mm

	Option D:
	100mm

	
	

	Q16.
	__________ is an operation designed to force agitation in the fluid and induce coagulation.

	Option A:
	Sedimentation

	Option B:
	Flocculation

	Option C:
	Disinfection

	Option D:
	Aeration

	
	

	Q17.
	 The depth of an enclosed tank of a rapid sand filter lies in the range of _____

	Option A:
	1-2m

	Option B:
	 2.5-3.5m

	Option C:
	 2-5m

	Option D:
	 3-5m

	
	

	Q18.
	When the pH is between 5 and 10, the chlorine in the water acts as _____

	Option A:
	 Hypochlorous acid

	Option B:
	Hypochlorite ions

	Option C:
	Molecular chlorine

	Option D:
	Hypochlorous acid hypochlorite ions

	
	

	Q19.
	Iron and Manganese are generally present in water supplies as ____________

	Option A:
	Suspension

	Option B:
	Solution

	Option C:
	Colloidal particles

	Option D:
	Either suspension or solution

	
	

	Q20.
	By aeration process, dissolved iron is oxidized into ____________

	Option A:
	 Ferrous oxide



	Option B:
	 Ferric oxide

	Option C:
	 Ferrous hydroxide

	Option D:
	 Ferric hydroxide

	
	

	Q21.
	Which gas is mainly produced due to incomplete burning of wood?

	Option A:
	CO

	Option B:
	SO2

	Option C:
	NO2

	Option D:
	NO3

	
	

	Q22.
	What is the average concentration of ozone in the ozone layer of the atmosphere?

	Option A:
	Nearly 100%

	Option B:
	Greater than 90%

	Option C:
	Between 10-50%

	Option D:
	Less than 10ppm

	
	

	Q23.
	The ozone layer absorbs what range of wavelengths of the sun’s radiation?

	Option A:
	0.80 nm – 1.50 nm

	Option B:
	200 nm – 315 nm

	Option C:
	450 nm – 570 nm

	Option D:
	 600 nm – 750 nm

	
	

	Q24.
	Which pollution cause hearing loss in organisms?

	Option A:
	Air pollution

	Option B:
	Noise pollution

	Option C:
	Water pollution

	Option D:
	Soil pollution

	
	

	Q25.
	At what decibel instantaneous rupture of membrane happens?

	Option A:
	100

	Option B:
	120

	Option C:
	146

	Option D:
	150
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